sU

’FF

TELAIETTO LATERALE SPECIFICO - SPECIFIC SADDLEBAGS TUBULAR HOLDER
PPORT TUBULAIRE POUR SACOCHES CAVALIERES - SPEZIAL STAHLROHR-SEITENKOFFER-TRAEGER
PORTA ALFORJAS TUBULAR LATERAL

HONDA XL650V ‘00/'03
TRANSALP

.

(T213-1%213 ) )

ISTRUZIONI DI MONTAGGIC - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

s

ﬂt’.tj@.....

Ld
L4
LT

L
4

) ssnEnn

| T
’

I
P

: A i Y : ™ 7 : i C N C
\_—g VITE TE M8 X 35 VITE TBEI Mé X 20 PIASTRINA X FRECCIA | | RONDELLA @ & DADO A.B. Mé& RONDELLA
SCREW M8 X 35 SCREW Mé X 20 BUNKER SUPPORT WASHER @ 6 BOLT Mé& CRIGINALWASHER
VIS M8 X 35 VIS Mé X 20 SUPORT CLI TANT RONDELLE @ & ECROU M& RONDELLE ORIGINALE
SCHRAUBE M8 X 35 SCHRAUBE Mé X 20 BUMKER LAGH SCHEIBE & & MUTTER Mé SCHEIBE CRIGINAL
TORNILLO M8 X 35 TORNILLO Mé X 20 SOPORTE INTERMITENTE | | ARANDELA @ & TUERCA Mé ARANDELA ORIGINAL
ko.n n.2 deax J \_ Q.TY n-4 J k Qn" I"I.: R QTY n-2(¢--11 I\ Qa" ".4 J\ Q.TY n.z J k Qv“ ne )

[

SEEsEENEAEEENSsESEEEEEEEEEEE

© Copyright 18092003-Rev02, 1 /y




